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Ideals for irreducible component#ﬂ)f Xpar

It = —uf' o u 1)

* 1 irreducible components of dim¢ = 0, with total 62 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (u?—uf'+..-+u+t1)

(i) Arc colorings

w-(3)

ag =
az =
ag =

ag =

u? —6u’ + 11u® — 6u® + u
u? —5u’ + Tud —2ud +u
—u'® + 116 — 48u + 105u'? — 12160 + 75u® — 30ub + 8u* —u? + 1
—u'® 4 1006 — 39ut* + 74u'? — 710 4 38u® — 18ub + 4ut — u?
—u? 4+ 2u
u® —3ud +u

wl” — 10u® + 39u!® — 74ul! + 71u? — 38u7 + 18u® — 4ud +u )

a11 = \ —y!9 + 11017 — 48u!® + 105u!3 — 121wt + 75u° — 30u” + 8u® —ud + u
w32 —19u30 + .. — 202 + 1
a12 = \ 32 — 1830 + .- + 1208 — 242
—udt + 312 4 = 2u? + 1
as = \u% — 32u5% + .- + 6ut — 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®® + 136u®" + -+ — 4u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 u® — 17u8" + - 4 1847u — 113

C2,C3,C7 u62+u61+_.__u_~_1

cs

¢4 ub? —u® 4 4 15+ 1

C5,C6,C11 w2+ w1
€9 u? — 5u®t + ... 4 640u + 304

€10, C12 u%? — 3ubt + .. £ 55u — 9




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 y%% — 11y + .. — 256449y + 12769

€2,C3,C7 y62_71y61_~_._._y+1

c8

Cy4 ¥ 4B b 127y 1

Cs5,C6,C11 y62—51y61+---—y+1
Co 62 61

Yo+ 20y°" + - — 2665888y + 92416
€10, C12 yG2 + 41y61 + .- —2233y 4+ 81




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1CS)

Cusp shape

= —0.708768 + 0.4944331

—0.01088 + 11.346301

1.00889 — 9.721171

= —0.708768 — 0.4944331

—0.01088 — 11.346301

1.00889 4 9.721171

0.712691 + 0.4822901

—4.59207 — 7.203721

—3.76784 + 7.818931

= 0.712691 — 0.4822901

—4.59207 + 7.203721

—3.76784 — 7.818931

0.821977 + 0.2480601

—1.60870 + 5.023001

—2.11818 — 2.338541

= 0.821977 — 0.2480601

—1.60870 — 5.023001

—2.11818 + 2.338541

= —0.717017 + 0.4624681

—1.49252 4- 3.046701

—0.95105 — 4.036851

= —0.717017 — 0.4624681

—1.49252 — 3.046701

—0.95105 + 4.036851

= —0.804271 + 0.2749451

—5.95144 — 0.931911

—6.82947 — 0.415101

= —0.804271 — 0.2749451

—5.95144 + 0.931911

—6.82947 + 0.415101

= 0.786850 + 0.3086441

—2.51765 — 3.162311

—3.19226 + 4.630641

= 0.786850 — 0.3086441

—2.51765 + 3.162311

—3.19226 — 4.630641

= 0.645614 + 0.4815421

5.40192 — 4.932841

5.98347 + 6.959671

= 0.645614 — 0.4815421

5.40192 4 4.932841

5.98347 — 6.959671

= —0.661871 + 0.4316651

—0.37286 + 3.820501

0.80971 — 8.832791

= —0.661871 — 0.4316651

—0.37286 — 3.820501

0.80971 + 8.832791

= 0.620723 + 0.3372921

—1.08571 — 1.066031

—2.60164 + 1.018841

= 0.620723 — 0.3372921

—1.08571 + 1.066031

—2.60164 — 1.018841

= —0.698913

2.99735

1.03130

= —0.524035 + 0.4594521

3.21307 — 1.546711

5.20781 — 1.381781

= —0.524035 — 0.4594521

3.21307 4 1.546711

5.20781 + 1.381781

= —0.383395 + 0.4943061

3.62071 + 4.904831

6.55837 — 6.655581

= —0.383395 — 0.4943061

3.62071 — 4.904831

6.55837 + 6.655581

= —0.164450 + 0.5824531

1.57732 — 7.670331

4.62669 + 4.822881

= —0.164450 — 0.5824531

1.57732 + 7.670331

4.62669 — 4.822881

0.412131 + 0.4323631

—0.75273 — 1.506081

0.71484 + 5.283761

0.412131 — 0.4323631

—0.75273 + 1.506081

0.71484 — 5.283761

0.147128 + 0.5694141

—2.94806 + 3.608501

—0.16305 — 2.914171

0.147128 — 0.56941471

—2.94806 — 3.608501

—0.16305 + 2.914171

||| |g|g|g|g|g|g|s|e|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g|g &

0.250782 + 0.5276681

6.54621 + 1.430981

9.71321 — 0.477301




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 0.250782 — 0.5276681

6.54621 — 1.430981

9.71321 + 0.477301

u = —0.116312 4 0.5496461

0.240300 + 0.4137971

2.99515 — 0.895231

u = —0.116312 — 0.5496461

0.240300 — 0.4137971

2.99515 + 0.895231

u = —1.45204 1.51065 0
u= 147356+ 0.067421 —2.33707 — 6.716841 0
u= 147356 —0.067421 —2.33707 4 6.716841 0
u = —1.49480 + 0.059031 —6.95748 4 3.057561 0
u = —1.49480 — 0.059031 —6.95748 — 3.057561 0
u= 1.50087 —4.52108 0

u = —0.202355 + 0.4376401

0.938163 — 0.7114681

6.55301 + 2.559991

u = —0.202355 — 0.4376401

0.938163 + 0.7114681

6.55301 — 2.559991

u= 1.54113 —4.36757 0
u = 1.55617+ 0.100841 —3.77147 — 0.328381 0
u= 1.55617 —0.100841 —3.77147 4 0.328381 0
u = —1.58656 + 0.136171 —2.15018 4 7.192931 0
u = —1.58656 — 0.136171 —2.15018 — 7.192931 0
u = —1.58930 + 0.101901 —8.66644 4 2.717301 0
u = —1.58930 — 0.101901 —8.66644 — 2.717301 0
u= 1.59484 + 0.122161 —8.05254 — 5.859031 0
u= 1.59484 —0.122161 —8.05254 + 5.859031 0
u= 1.60793 + 0.14425] —7.8739 — 13.73231 0
u= 160793 —0.14425] —7.8739 + 13.73231 0
u = —1.60930 + 0.140131 —12.4821 + 9.53031 0
u = —1.60930 — 0.140131 —12.4821 — 9.53031 0
u= 1.61037 + 0.133711 —9.41174 — 5.276611 0
u= 1.61037 —0.133711 —9.41174 4 5.276611 0
u = —1.62295 + 0.085571 —10.77130 + 4.645581 0
u = —1.62295 — 0.085571 —10.77130 — 4.645581 0
u= 162421+ 0.076861 —14.2631 — 0.39711 0
u= 1.62421 — 0.076861 —14.2631 4 0.39711 0




Solutions to I* v—1(vol + /—1CS) | Cusp shape
u = —1.62511 + 0.069311 —9.97350 — 3.825161 0
u = —1.62511 — 0.069317 —9.97350 + 3.825161 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 u%? — 17uS" + - 4 1847u — 113
Cg,C3,C7 u62—|—u61+---—u+1
Cs8
4 u? — w4 15u 1
Cs, Cg, C11 U62+u61+"'_u+1
Co u®? — 5ult 4 -+ + 640u + 304
€10, C12 u®? — 3ut 4. 4 55u — 9




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 y%? — 115" + ... — 256449y + 12769
C2,C3,Cr y62_71y61+_y—|—1
Cs8
€ Y+ 127y 4+ 1
Cs5,C6, C11 y62_51y61+_y+1
¢ 62 61
9 Yo +25y° + .- — 2665888y 4 92416
€10, €12 y%? + 4195 + ... — 2233y + 81




